Studio 2 (MK1.5)

M8 x 20 HEX HEAD SCREW

M5 WASHER

M6 x 20 BUTTON HEAD
\ M5 X 8 CAP HEAD
L]
'
=~ . v g
.

M5 X 16 BUTTON HEAD
M5 x 16 HEX HEAD

1 RVS- Studio 500/2/3
MEC10126 Mk1.5 Flue
Clamping Plate
2 RVS- Studio Upper Flue
CA7512 Collar

1/4


https://www.harworthheating.co.uk/?s=rvs-ca7512&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvsmec10126&post_type=product&search_type=all

10

11

12

13

14

15

16

17

RVS-
CA7767

RVS-
ME7376

N/A
Carcass

RVS-
RA502008

RVS-
CE7468

RVS-
RA503452

RVS-

MEC10271

RVS-
MEC10110

RVS-
ME601357

RVS-
ME601358

RVS-
RA502194

RVS-
ME601499

RVS-
ME601351

RVS-
ME600213

RVS-

MEC10103

Studio Mk.1.5
Lower Flue Collar

Studio Cover Plate

Welded Carcass This part is not
Assembly serviceable and cannot
be ordered as a spare.

Studio 2/3 Fan
Blanking Infill

Studio 2 Baffle
Firebrick

Studio 2 Mk 1.5
Baffle Brick
Support

Studio 2 Mk1.5
Firebrick Assembly

Studio 2 Mk 1.5
Primary Air Slider

Studio 2 Mk 1.5
Primary Air Slider
Runner

Studio 2 Mk 1.5
Primary Air Slider
Cover Plate

Data Plate Mount

Studio 1/2 Mk1.5
Primary Air Slider
Stop

Studio 1/2 Mk1.5
Primary Air Slider
Handle

Studio Door
Handle Tool

Studio 2 Mk 1.5
Complete Door
Assembly

2/4


https://www.harworthheating.co.uk/?s=rvs-me7376&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-ra502008&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-ce7468&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-ra503452&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-mec10271&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-mec10110&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-me601357&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-me601358&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-ra502194&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-me601499&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-me601351&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-me600213&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-mec10103&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-ca7767&post_type=product&search_type=all

18

19

20

21

22

23

24

25

26

27

28

29

30

31

RVS-

MEC10102

RVS-

MEC10101

RVS-
RA503351

RVS-
MEC8500

RVS-
ME601353

RVS-

MEC10109

RVS-
ME601346

RVS-
ME601354
RVS-
RA503451

RVS-
RA501955

RVS-
MEC8373

RVS-

MEC10258

N/A
Carcass

RVS-
ME601278

Studio 2 Mk 1.5
Left Hand Upper
Baffle Plate

Studio 2 Mk 1.5

Right Hand Upper

Baffle Plate

Studio 500/1/2
Mk1.5 Log Guard
End Support

Studio Log Bar
Support

Studio 2 Mk 1.5
Log Guard Bar

Studio 2 Mk 1.5
Airwash Slider

Studio 500/1/2
Mk1.5 Airwash
Handle

Studio Mk1.5
Airwash Spacer

Studio 2 Mk 1.5
Airwash Slider
Cover Plate

Studio 1/2
Secondary Air
Slider

Studio 500/1/2
Hinge Block

Studio 2 Mk 1.5
Airwash Bracket

Welded Carcass
Assembly

Studio 500/2
Mk.1.5 Catch
Roller Pin

This part is not
serviceable and cannot
be ordered as a spare.

3/4


https://www.harworthheating.co.uk/?s=rvs-mec10102&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-mec10101&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-ra503351&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-mec8500&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-me601353&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-mec10109&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-me601346&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-me601354&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-ra503451&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-ra501955&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-mec8373&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-mec10258&post_type=product&search_type=all
https://www.harworthheating.co.uk/?s=rvs-me601278&post_type=product&search_type=all

32 RVS- Studio 500/2
MEG601277 Mk.1.5 Door Catch
Roller

Drawing: PR10178-1

Do you have the correct appliance?

Before ordering your parts please ensure you have selected the correct appliance. To
properly identify your appliance you will need to know your serial number and/or model
number.

© 2021 Stovax Ltd. All rights reserved.

4/4


https://www.harworthheating.co.uk/?s=rvs-me601277&post_type=product&search_type=all

